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SE-101 (B) : Statistics - I
Time : 2 Hours) : [Max, Marks : 50

Instructions: (1) Al questions in Section — I carry equal marks.
(2)  Attempt any two questions in Section - I.
(3)  Question No. 5 in Section - 11 is compulsory.
(4)  Use of calculator is permitted.

SECTION -1
l. . (A) Find the correlation coefficient from the following data : 10
No. of accidents Age of drivers |
25-35 | 35-45 | 45-55

0 - 13 27

1 24 9 13

2 10 5 5

3 6 3 -

(B) What is meant by association of attributes 7 And find rank correlation coefficient

from the following data : : 10

x |38 164 |61 (8|8 |74]|26/[97]38](77
y |46 | 53 |57 |8 [62|67]|61 |9 |53/ 83

2.  (A) Define regression coefficients and explain their properties. S
(B) Obtain the equations of two regression lines for the following data : 10
Details Varisblex | Variabley | -
Mean 345 41.5
S.D. 4 - 8
Correlation CoefTicient (r) 0.64

Also, Estimate X for Y = 25 and Estimate Y for X = 40,

3. (A) Taking initial forecast 80 and o = 0.4, obtain the forecast for the following data
using exponential smoothing method : 10

Year 2011 | 2012 | 2013 | 2014 | 2015

Production | 95 | 118 | 137 | 161 | 187
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(B) What is meant by Business Forecasting 7 And obtain second degree parabolic
trend from the following data, also forecast for the year 2021 : % « T4 55719 (el
Year 2016 | 2017 [.2018 [ 2019 | 2020 T - by Hogyle

Sales (in lakh 5] &1 | 3l T = o
iy BT 14 - i b
4. (A) State the formula of IMR. Find é@and@nf two cities from the following
data and also compare health of two citiese 10
Age City A = City B Standard
(in years) Population | No.of | Population [ No.of PﬂF'-‘E'“““"
(in *000) Deaths | (in “000) Deaths (in ‘000)
Less than 5 17 1054 19 1235 18
320 23 1104 24 1128 25
20 - 45 35 1155 34 1190 33
45 - 60 12 1020 14 1176 11
Above 60 7 658 8 736 8
-(B) From the following information of a city, calculate GFR, TFR and CBR [Total
Population of the city is 4,40,000] : ' 10
Age No. of Females | No. of Live
(in years) (in *000) Births
18 -22 19 1273
23-27 23 3105
2832 27 4536
33-37 24 2R56
38-42 21 1785
43 - 47 26 936
48 — 52 10 ' 100
SECTION 11
5. Answer the following questions (any five) : 10

(1) For 8 pairs of observations, covariance is 15 and variance of x and y are 25 and 16
respectively. Find correlation coefficient.

(2) A and B are independent attributes, Find (Ap) if (AB) = 95, (B) = 130 and (B) =
190. ' _

(3) Ifbrxﬂg_.'fs andbﬂﬂﬂ.ﬁﬂ_ then find r.

(4) If the equation of line ofx,ony is 4x — 7y — 53 = 0, then find I:Ij.

i i i i i fit the equation
“(5)- For a straight line, write normal equations required to quation.
\{6) In exponential smoothing method, if X; = 178.88, 8; = 159.32 and T, = 13.04,

then find exponential smoothing constant. m :E-‘?:.
) Ifa=03,8,=1474, T, =0.72, then find initial forecast value. |49.0%
(8) In the year 2019, 450 births had observed in a village of which 27 children died
before attaining their age of one year. Find the infant mortality rate of this village,
Lo For a city, crude birth rate = 77.4 and total population is 1,80,000. Find total
number of live births. ] » .
(10) Write the name of methods used for collecting demographic statistics.
p R‘E‘s'ﬁ*ﬁtdi e
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CC-104 : Commercial Communication — I

Time : 2:00 Hours]

Instructions : (1) Al questions in Section — [ carry equal marks.

(2) Attempt any two questions from Section — 1.
(3) Question No. - § in Section —11 is compulsory.

[Max. Marks : 50

SECTION -1
Attempt any TWO questions from Section — 1.
1. Write a detailed note on the importance of feedback in communication. 20
OR tr-f,
\— Write a note on any five objectives of communication.
2. Write short notes on any two : - 20
(1) E-Communication: Various Forms.
(2) Advantages of E-meetings
(3) E-commerce 3
(4) Types of Interactions in E-Governance
3. Draft an application for the post of a sales executive. 20
OR
Write a detailed note on various tips for facing interview.
4. (A) Rewrite the sentences using correct options given in brackets : 12
(1) Ihave the latest of ‘Wings of Fire’'. (edition/addition)
(2) We must follow doctors’ __inCOVID care, (adyice/ advise)
(3) The structure should be removed. (caste/cast)
(4) Ranu has losta of T 1,000. (check/cheque)
(5) Kidslike ____ verymuch. (carton/cartoon)
(6) are not issued driving licence, (Miners/Minors)
MD-117 1 P.T.O.



(B) Match the words in Column — A with their meanings in Column =B :

Column - A Column-B
Hoard postpone
Coast profession
Defer store
Vocation shore

SECTION - IT (Compulsory)
Fill in the blanks with the correct answer from the options given : (Any five)
(1) *Medium' is a part of of communication.

(@) objective (b) definition
el process (d) type
(2) ‘Feedback’ is provided by the .
&)™ listener (b) speaker
(c) none (d) both
(3) is one of the objectives of communication.
(a) Process (b) Writing
(c) Perfection “(d Counselling
(4) _____isone of the limitations of E-communication.
(@) speed (b) low cost
S}~ legal value (d) none
(5) ‘*Heading’ contains information about the
(a) reader (b) writer
\_{;)/subjer;t . (d) all
(6) is a form of e-communication.
(a) symbols AT e-mail
(c) Signs ' (d) None
(7 of anything is bad.
(a) [Excess B} Access
(c) Except (d) Accept
(8) The of living has gone-up now-a-days.
(a) coast . (b) cost
(c) both \dy None
(9) In American style the date is writtenin__ numbers,
(a) cardinal w{b¥ ordinal
(¢) bold : (d) all
(10) person is disliked by all.
(a) Official (b) Noble
(c) Officious Md]  Good
MD-117 . 2
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CC-103 : Accountancy — I

[Max. Marks : 50

All questions in Section-I carry equal marks.
(2) Attempt any tweo questions in Section-1.
(3) Question 5 in Section-II is compulsory.

Section -1

Ramanbhai of Rajkot consigned 300 table fans to Sanjaybhai of Surat on 01-10-20. The
cost price was ¥ 1,200 per table fan, but the proforma invoice was made out at a figure

so as to show a profit of 25% on invoice price.

On the same day, Ramanbhai incurred the following expenses :

Carriage T 1,000, Freight T 1,500, Insurance Premium ¥ 5,000,

On the same day, Sanjaybhai sent a bank draft for T 2,55,150 to Ramanbhai,

On 31-03-21, Sanjaybhai sent at account sale and a bank draft for the amount payable.

20

He reported in the account sale that -

(1) He sold 140 table fans at ¥ 1,900 each for cash.

(2) He sold 90 table fans at T 2,000 each to Manishbhai on credit,

(3) He sold 40 table fans at ¥ 1,950 each to Amitbhai on the recommendation and
responsibility of Ramanbhai.

(4) Sanjaybhai paid the following expenses :
Octroi T 4,500, Carriage T 1,500, Selling expenses T 1,850.

(5) Manishbhai and Amitbhai became bankrupt and 60% amount could be received

from them. nle Qsﬁﬂb 4.5
(6) Sanjaybhai is entitled to receive a commission of 5% on sales and 2% del credere

commission on credit sales. ,Jig,,uﬂ'-’
From the above information, prepare :
In the books of Ramanbhai
(i) Consignment Account
(ii) Consignee’s (Sanjaybhai) Account
++ P.T.O.
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« Branch and Independent Branch,

(plain di MW spenden lo
7 & {t:;: ﬁ::::l:if::["‘:;sl;;:;EE:]I?:II:E following ﬂ+rnm.:|‘l ﬁcf?lﬁ:[\;ﬁip:ggrfnzm the
year ended on 31-03-2021. Prepare Branch Trading Acco Loss
Account : Iy
Dr. Branch Account Cr.
Particulars k9] Particulars ()
To Balance b/d By Goods returned to LTy
(01/04/20) Branch Alc 50,000
Stock 1,00,000 By Cash A/c 4,009
Cash 5,000 (Sundry Income)
Petty Cash 300 By Cash (Sales) 6,96,000
Fumiture 15.000 | 1,20,300 | By Balance ¢/d
To Goods sent 1o Branch A/e | 6,00,000 | (31-03-21)
To Cash A/c (Petty Cash) 400 Stock 80,000
To Cash A/c (Expenses) Cash 5,000
Wages 1,000 Petty Cash 200
Salary 15,000 Furniture 11,500 | 96709
Rent 7,500
Advertisement _2.500 26,000
To Profit transferred to 1,00,000
General P& L A/c _
8,46,700 8,46.700

3. Anilbhai of Ahmedabad entered into a Joint Venture with Vasantbhai of Vadodara to
sell Smart TV and to share profit or loss equally, Anilbhai contributed 5,00,000 and
Vasantbhai contributed ¥ 5,00,000 towards the venture with which a Joint Banking

Account was opened, :

Anilbhai bought 20 Smart TV at a ¥ 20,000 each and paid for them from the Joint
Banking Account. Custom charges and insurance premium ¥ 3,000 and T 10,000
respectively were paid by Anilbhai from his private cash.

Vasantbhai bought 14 Smart TV at ¥ 16,000 each, the price of which was paid from the
Joint Banking Account. The whole lot (except 4 Smart TV which were damaged in
transit) was sold at a price of T 30,000 each.

Vasantbhai spent ¥ 3,250 for each of the four damaged Smart TV for repairs and pai¢
for them from his private cash. They were finally sold by Vasantbhai at ¥ 25,000 each
Prepare Joint Venture Account, Joint Banking Account and Partner’s Account.

0

4. (A) Clarify utility and limitations of Computer in Accnumin&"*\*gﬁqm gD
(B) Explain components of Computer, .
MC-123 6 $
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Sectlon - 11
5. Wrile correct answer | (Any EI;;J 10
(1) The relation between consignor and consignee is of
(A)* Principal and Agent (B) Scller and Purchaser
(C) Debtor and Creditor (D) Creditor and Debtor
(2) is recurTing expense.
(.ﬂ:j Advertisement expense (B) Goods clearing charges
(C) Insurance of Goods sent (D) Allofabove
(3) Del-Credere commission is calculated on
(A)- Credit Sales (B) Total Sales
(C) Cash Sales (D) Cost of Goods Sold

(4) Head Office sent T 4,000 as Petty cash to its branch during the year. Opening and
Closing balance of petty cash was ¥ 1,200 and T 800 respectively. The petty cash

expenses of the branch during the year will be

(A) T4,000 (B) ¥4,800
(C) 14,400 _ (D) 5,200
(5) For finding out the amount of sundry expenses paid by the branch,
account should be prepared.
(A) Creditors Alc ' (B) Debtors Alc
©y Petty Cash Alc (D) Computer Alc .

(6) Head Office sent goods to ilts branch at invoice price. Invoice price is 33—;% plus

on original price. How many percentage of profit will be on Invoice Price ?
(A) 50% (B) 20%
(C) 25% (D) 100%
(7) Ram and Shyam entered into Joint Venture. Ram gives ¥ 25,000 to Shyam. To
which account the transaction will be recorded in the books of Ram ?
(A) Joint Venture Account (B} Shyam’s Account
(C) Expense Account ' (D) None of the above

MC-123 | 7 P.T.0.



(8) Inwhich of the following business Joint Venture can be possible 7
(A) Daily Newspaper (B). Run atoys stall in a festival fair
(C) Medical Shop (D) Cloth Shop

(9) Joint Venture Account is similar to
(A) Only Balance Sheet
(B)- Trading and Profit & Loss Account
(C) Only Trading Account
(D)  Only Profit and Loss Account

(10) _____ isapartof CPU.
(A) Key Board (B) Output Unit
(C) Both of above ([})' Control Unit
(11) ___ key is used to know information of Balance Sheet and Profit & Loss
Account. !
(A) Alt+R (B) Alt+D
(€) Alt+F2 (D) Alt+Fl
(12) In Tally, which key is used for Journal ?
(A) F5 (B) F6
(C) F8 (D) F7

MC-123 8
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Time : 2 Hours| [Max, Marks : 50

Instructions : (1) There are two sections in this question paper, Section — I (40 marks)
and Section - 11 (10 marks).
(2)  Attempt any two questions from Section — I. Section — 11 is compulsory.

(3) Do not change serial order of Section — II (multiple choice questions)

SECTION -1 =

1. (A) Explain in detail importance of Human resource management and state Role of
HR manager. . 10
(B) Define Human resource planning and write Stages of Human resource planning. 10
OR . ! ) 3] L g frydl
Write short notes on : (4*Smks) '« - S AR T b R 20 0 gt
¥ ol “Oﬁ'fﬁﬁﬁc*ﬁfﬁ%mf‘if?‘ uman Resource Management S S
(2) Qualities of HR. manager 1

«{3) Factors affecting Human resource pli'm‘ning
(4) Human resource planning and Human resource management

13

i' (A)  Define Scientific recruitment and state various sources of recruitment, 10

| (B) Define training and development. Explain in detail procedure of training. 10
: OR .

! Write short notes on ; (4*5 mks)' 20

(1) Methods of Human resource development
(2) Various tests for recruitment

(3) Importance of training

(4) Executive development

3. (A) Define promotion. State seniority and efficiency as base of promotion, 10

(B) Define transfer. State its causes and guiding principles. 10
OR ' -

Write short notes on : (4*5 mks) 20

(1) Momle-factor contributing to high morale
(2) Demotion and causes of demotion
(3) Types of performance appraisal
(4) Basis of promotion :
MB-116 {':L E:M"a_"'*" 3 | P.T.O.
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(A) Explain meaning of Job design and factors affecting .ln.h design. . 10
(B) Discuss in detail guiding principles for improving quality of work life, 10
OR

Write short notes on : (4*5 mks) 20
(1) Quality circles

(2) Job enrichment

(3) Job enlargement

(4) Job rotation

SECTION-11
5. Multiple choice questions : (Answer any 5) :
(1) Word “Quality of work life” was mentioned for the first time in the year .

(A) 1975 (B) 1970
(C) 1990 (D) None of the above

10

(2) Job enlargement means 2
(A) Addition to original work (B) Complete new task
(C). Working in different department (D) None of the above

(3) 360 feedback involves appraisals by .
(A) Supervisors (Bl Subordinates
(C) Peers (D) None of the above

(4) Right man, Right time and Right number means .
(A)} Promotion (B) ' Transfer
o -1 ki {5 {2 "

LN D1

() Executive development (D) ‘Al of the above
(6) Objective of training is to P
(A) Update knowledge (B) Improve quality
. (C) Maintain health and safety (D) All of the above
(7) Follow-up is stage of training.
(A) First (B) Middle
: (C) Last (D) None of the above
(8) Concept of Management by objectives was popularized by
(A) Peter Drucker : (B)s Henry Fayol
(C) Fredric Taylor (D) None of the above
(9) Role playing method was developed by 5
(A) Henry Fayol (B} Peter Drucker
(C)  Fredric Taylor (D) I L. Moreno
(10) Human resource management helps to increase
(A), Productivity (B) Sales
(C) Cost . (D) None of the above
MB-116 4
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Time : 2:00 Hours] [Max. Marks : 50

Instructions :

. (A) Answerany FOUR questions in brief:

(M
(2)
(3)
(4)
(5)
(6)

(B) Write a short note on any ONE :

(1)

(1) All questions in Seetion-I carry equal marks.
(2) Attempt any two questions from Section-1.
(3) Question No-5 in Section-I1 is compulsory.

SECTION -1

(Attempt any two questions from Section - I)
12

Who did the policeman meet in the doorway ?

'What had happened to ‘Big Joe” Brandy's restaurant ?

Why did the narrator give money to the old woman ?
What did the narrator look like when he went to Madras 7

How did Vicky kill the mosquito 7
Why did Vicky decide to leave the town ?.

The Policeman

(2) The old woman
(3) The title of the story : Valiant Vicky

2, (A) Answerany FOUR questions in brief :

(N
(2)
(3)
@)
(5)
(6)

ME-106

12

Where did the school master teach his school ?

Why did the school master’s students laugh at all his jokes ?

Who is addressed as ‘Captain’ ? Why is he addressed as a captain ?

Why are the people ‘exulting’ at the beginning of the poem ?

What does the son say to his mother in disgust ?

What are some of the fond memories of her son that the poet remembers ?

I PIT‘O.




LY ]

(B) Write a short note on any ONE : .
(1) The School master
(2) The poet’s love for his ‘Captain’
(3) The title of the poem: Middle Age

(A) Fill in the following gaps with appropriate forms of DO, BE and HAVE : (any
four) 8
(1 you playing now ? (Be)
(2) Mohit his own car. (have)
(3) Meena a strong girl. (be)
(4) Suchi her own food everyday. (do)
(5) she sing last night ? (Do)
(6) He his work himself. (do)

(B) Fill in the following gaps using proper forms of the verbs given in the brackets :
(any six) 12
(1) They cricket last Sunday. (play)
(2) Mona____for five hours. (dance)
(3) He_culley me every day. (call)

(4) Listen, she . (sing)
(5) He next month. (join) Rt
(6) See, they . (eat)
(7) She well. (speak) .
(8) Rohan __ him last week. (inform)
4.  Write an essay in about 150-200 words on any ONE of the following : 20
(1)e Effects of Social Media on My Life
(2) Superstitions
(3) Man versus Machine
SECTION - 11 (Compulsory)
5.  Choose the appropriate options : (any five) 10
(1) The story implies that Bob is a
(a) restaurant owner (b criminal
(c) policeman (d) painter

(2) What was striking about Bob ?
{a¥ He had a scar on his face near his eyebrow
(b) He carried a diamond-studded watch
(¢) He was very thin
(d) None of these
ME-106 2




(3) What did the old woman want [rom the narrator 7

(a) Cloths (b) A job
(¢) Food (d] Money
(4) How much money did the narrator spend on bus journeys in a month ?
(a) = Five rupees v(by Ten rupees
(c) Fifteen rupees (d) Seven rupees
(5) What did Vicky do for a living ?
(a) He was a painter (b) He was a blacksmith
«(¢) He wasa weaver (d) He was a soldier
(6) What do we know about the village school master’s appearance ?
(a) He looked old “b— He looked stern
(c) He looked jovial (d) None of these
(7) Who is the Captain referred to in the poem ?
(a) Winston Churchill P The poet himself
(¢) Abraham Lincoln (d) None of these
(8) What are children compared to in the poem ?
(a) Critics (b) Friends
(¢) Strangers \Ad) Poects

(9) What about the school master ‘amazed’ the villagers ?
(a) The school master’s appearance
\(BY The school master's words of learned length '
(¢) The school master’s teaching
(d) None of these
(10) Lincoln wants to put an end to

i poverty ' (b) slavery
(¢) child labour (d) None of these

ME-106 3 P.T.O.
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(B) Write a short note on any ONE : 8

(1) What one is required to do in order to achieve the goal of living in a country
where the mind is free ?

(2) The central theme of the poem The Seven Ages of Man.
(3) Lessons learnt about making choices in the poem The Road Not Taken.

3. (A) Fillin the following gaps using proper forms of the verbs given in the brackets :

(any six) 12
(1) They cricket last Sunday. (play)
(2) Mona for five hours. (dance)
(3) He me every day. (call)
(4) Listen, she . (5ing)
(5) He next month. (join)
(6) See, they . (eat)
(7) She well. (speak)
(8) Rohan him last week. (inform)
(B) Fill in the following gaps with appropriate forms of DO, BE and HAVE : (any
four) 8
(1) you playing now ? (Be)
(2) Mohit his own car. (have)
(3) Meena a strong girl. (be)
(4) Suchi her own food everyday. (do)
(5) she sing last night 7 (Do)
(6) He his work himself. (do)
4,  Write a paragraph in about 80 to 100 words on any ONE of the following topics : 20

(1) My Favourite Movie
(2) Importance of English in India
(3) Pollution

SECTION - II (Compulsory)

5. Choose the appropriate options : (any five) 10
(1) Inwhich year did Ruskin Bond win the Padma Bhushan award ?
(a) 2011 (b) 2014
(c) 2000 (d) 2015
(2) Where was Seth Govind Ram holidaying ?
(a) Kashmir (b) Kerala
(c) Paris (d) Goa

ME-106 5 P.T.O.
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(B) Write a short note on any ONE : 8
(1) What one is required to do in order to achieve the goal of living in a country
where the mind is free ?
(2) The central theme of the poem The Seven Ages of Man.
(3) Lessons learnt about making choices in the poem The Road Not Taken.

3. (A) Fill in the following gaps using proper forms of the verbs given in the brackets :
(any six) 12
(1) They cricket last Sunday. (play)
(2) Mona for five hours. (dance)

(3) He me every day. (call)
(4) Listen, she . (sing)
(5) He next month. (join)
(6) See,they . (eat)
(7) She well. (speak)
(8) Rohan him last week. (inform)
(B) Fill in the following gaps with appropriate forms of DO, BE and HAVE : (any
four) 8
(1 you playing now ? (Be)
(2) Mohit his own car. (have)
(3) Meena a strong girl. (be)
(4) Suchi her own food everyday. (do)
(5) she sing last night ? (Do)
(6) He his work himself. (do)
4,  Write a paragraph in about 80 to 100 words on any ONE of the following topics : 20

(1) My Favourite Movie
(2) Importance of English in India
(3) Pollution

SECTION - 11 (Compulsory)

5.  Choose the appropriate options : (any five) 10
(1) In which year did Ruskin Bond win the Padma Bhushan award ?
(a) 2011 (b) 2014
(¢) 2000 (d) 2015
(2) Where was Seth Govind Ram holidaying ?
(a) Kashmir (b) Kerala
(c) Paris (d) Goa
ME-106 5 _ P.T.O.

‘!‘
| A



ME-106

March-2022
B.Com., Sem.- |
General English (English Medium)
(Text : Pinnacle)
' Id
Time ; 3,4, Hours) (Old)
|
Hructions (1) AN questions

(2) Attempt
3)

in Section-I carry equal marks.
any two questions from Section-I.
estion No-5 in Section-I1 is compulsory.

SECTION -1
(A) {&“‘“‘Pt any two questions from Section — I)
?:;swﬂ Y FOUR questions in brief :

U Was Nathu's intent behind the starting statement ?
)  How did the

beggar who couldn't walk start walking ? =
(3) Why did the mother not allow her son into the house that night ? Whap e

1|

(4)  What gig the author’s mother tel] him one evening and what was his feeling '
on being told 507 | :
(5)  Why is Steve Jobs considered a visionary ?

(6) How did Steve Jobs meet Mr. Wozniak ?
(B) Write a short note on any ONF :

(1) How miscommunication ca
(2) The black boy

(3) The lesson learnt from the article The Man Whe Redefined Digital Age

n be damaging

2.  (A) Answer any FOUR questions in brief :
(1) What were Rabindranath Tagore's various skills ? |
(2) “Where the clear stream of reason has not jos its way," Explain this Tine 10
with reference to context,
(3) Describe the first two stages of life,
(4) Describe the mood of the poem The Sevey Ages of Man.
(5) What is the tone and technique of the poem T

; Road Not Takey, »
(6) What kind of setting is there in the poem The Road No; Taken 9
4
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(B) Writca short note on any ONE : :

(1) What one is required to do in order (o achieve the poal of living i
where the mind is free ? goal of living in a country

(2) The central theme of the poem The Seven Ages of Man.
(3) Lessons leamt about making choices in the poem The Road Not Taken

(A) Fill in the following gaps using proper forms of the verbs given in the brackets :

3.
(any six) 12
(1) They cricket last Sunday. (play)
(2) Mona for five hours. (dance)
(3) He me every day. (call)
(4) Listen, she . (sing)
(5) He next month, (join)
(6) See, they . (eat)
(7) She well. (speak)
(8) Rohan him last week. (inform) :
(B) Fill in the following gaps with appropriate forms of DO, BE and HAVE : (any
four) ' 8
(1) you playing now ? (Be)
(2) Mohit his own car. (have)
(3) Meena a strong girl. (be)
(4) Suchi her own food everyday. (do)
(5) she sing last night ? (Do)
(6) He his work himself. (do)
4.  Write a paragraph in about 80 to 100 words on any ONE of the following topics : 20
(1) My Favourite Movie
(2) Importance of English in India
(3) Pollution
SECTION - II (Compulsory) -
5. Choose the appropriate options : (any five) 10
(1) In which year did Ruskin Bond win the Padma Bhushan award ?
(a) 2011 (b) 2014
(c) 2000 (d) 2015
(2) Where was Seth Govind Ram holidaying ?
(a) Kashmir (b) Kerala
(c) Paris (d) Goa
ME-106 5 P.T.O.
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(3)

(4)

(3)

(6)

7

(®)

&)

What did the author get from his mother when he tried to force his way Past e,
into the house 7

(8) A tight hug (b) Akick

(¢) A spanking with thestick  (d) A stinging slap

What job did the author's mother take up 7

(@) Worked as a cook (b) Worked os a labourer

(¢) Worked as a babysitter (d) Worked ot the railway station
Where was Steve Jobs' birth father from ?

(a) England (b) Afghanistan
(c) Syria (d) America
Which was the first movie made by Pixar 7
(a) Toy Story (b) Wall-E
(¢) The Incredibles (d) Finding Nemo
Vishwa Bharti University was founded in which town ?
(a) Kharagpur (b) Santiniketan
() Ahmedabad (d) Durgapur
Where  come out from the depth of truth, Fill in the blank.
(a) passion (b) rivers
(¢) patriotism (d) words
Where is Shakespeare from ?
(a) South Africa (b) Scotland
(¢) England (d) - North America
(10) In which year was Robert Frost bom ?
(a) 1871 (b) 1874
(c) 1881 (d) 1873
6 .
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Seat No. :

ME-106

March-2022
B.Com., Sem.- 1
General English
(Gujarati Medium)
(Text : Ferns : An Anthology of Prose and Poetry)
(New Course)

Time : 2:00 Hours] [Max. Marks : 50

[nstructions :

(1) Al questions in Section-I carry equal marks.
(2) Attempt any two questions from Section-I.
(3) Question No-5 in Section-II is compulsory.

SECTION -1
[Attempt any TWO questions from Section - I|

1. (A) Answerany four questions in brief : 12

()
2)
&)
4
(3
(6)

(B) Write a short note on any one :

(N
(2)
(3)

2, (A) Answer any four questions in brief:

(1
(2)
3)
(4)
(5)
(6)
ME-106

How did Harvey Maxwell propose marriage and to whom ?
Which city did Sudha Murty move to and why ?

How does Swami acquire a monkey ?
Why was Pitcher surprised when Harvey Maxwell entered the office ?

What distinguishes humans from animals, according to Sudha Murty ?
What are some of the tricks Sami teaches the monkey ?

The title of the story ‘The Mute Companions’,
Harvey Maxwell- a forgetful banker.
Theme of the story ‘“When Telegrams were Bad’.

12

How did the reaper’s song affect the poet ?

Why did the house become silent 7

How can friends keep you alive even after death ?

How is the song of the solitary reaper compared to the nightingale’s song ?
How did the poet feel about the house and her grandmother later ?
According to the poet, what is a ‘nobler thing’ than fame ?

7 PlTl Dl




(B) Write a short note on any one :
(1) The poet's views on fame and fricndship.
(2) The theme of love in the poem *My Grandmother’s House’.
(3) The theme of the poem *The Solitary Reaper”.

3. (A) Fillin the blanks with appropriate forms of Do, Be and Have as lexical verbs frop,
those given in brackets : [Any four] 8
(1 1 absent in the lecture, so the teacher scolded me. [have been, was)
(2) No student a car, [has, does]
(3) Nirav his best to succeed in life, but he could not. [does, did]
(4) Where you at that time ? [are, were]
(5) He has already his lunch. [had, been]
(6) as you are instructed, [Did, Do]
(B) -Fill in the blanks with appropriate forms of verbs from those given in brackets -
[Any six] 12
(1) While Mona her homework, someone rang the doorbell. [ is doing,
was doing ] '
(2) Mr. Patel in this bank for ten years. [ is working, has been working ]
(3) India free in 1947, [ became, becomes ]
(4) Light faster than sound, [ was travelling, travels ]
(5) If you walk fast, you home early. [ will reach, reached ]
(6) Rahul already _ his study. [ did..... .complete, has .. .completed) !
(7) 1can hearthat somebody  asong. [ is singing, was singing ]
(8) Before the teacher arrived, the students  the blackboard. [ has cleaned, - f
had cleaned ] '

i

4.  Write an essay in about 150-200 words on any ONE of the following topics : 20
(1) Effects of Social Media on My Life
(2) COVID 19 Pandemic and Worldwide Crisis
(3) Internet:a Boon or a Bane

SECTION - II (Compulsory)
5. Choose the appropriate options : [Any five] 10
(1) What is Miss Leslie's position in the office ?
_(a) Wife (b) Secretary
(c) Clerk (d) Cashier
(2) To get home, the narrator Sudha Murty takes
(a) abus (b) aflight
(¢) atrain (d) acar

.

ME-106 4 8
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(3

(0)

(7)

(8

(2)

(10)

ME-106

The monkey is trained

pol 1o make movements, (b)
[ﬂ: pot to make fun of people. (d)
E;h.: tone of the reaper’s song is
(a) melancholic. (b)
lc] il‘l‘i“ﬂﬂd. {d}

The house became cold and dark when

(@) the speaker left the house. (b)
(¢) the speaker became an adult. (d)
The poet has no appetite for

(a) money. (b)
“;} fame. {d}
Harvey Maxwell got married at the

(a) temple, (b)
(¢) banquet hall. ! (d)

(a)

nolt to perform tricks.
not to steal anything.

happy.
angry.

the grandmother passed away.
the grandmother went abroad.

friendship.
food.

marriage hall,
Little Church.

When the train arrives at the station in the hometown of the narrator
she is disappointed to find no one there,

(b) she is happy to see her friend Lata there.
(c) she is surprised to find her family there.
(d)

she is glad to see her father there.

to cheer him up.
to make him speak.

a free verse.

The monkey is asked to perform for the sick boy

(a) to make him get up. (b)

() to make him sleep, (d)

*The Solitary Reaper’ is

(a) a sonnet. (b)

(¢) aballad. (d) an elegy.
9
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Sent No. :

ME-106 T

March-2022
B.Com., Sem.- |
General English
(Gujarati Medium)
(Text : Beautiful Minds)
(Old Course)

Time : 2:00 Hours] [Max. Marg . 5
Instructions : (1) Al questions in Section-I carry equal marks.

(2) Attempt any two questions from Section-I.
(3) Question No-5 in Section-11 is compulsory.

SECTION -1

[Attempt any TWO questions from Seetion — 1]
. (A) Answer any four questions in brief : 12

(1) What are the three main aspects of the vision of Digital India ?
(2) What were the qualities that the new salesman ought to have had, according
to Mr. Ratnam ?
(3) How did Swami provoke his teacher ?
(4) What role does cyber security play in Digital India ?
(5) Why did Mr. Agarwal send a hundred rupee note to his brother ?
(6) What did Swami say about Samuel to his father 7
(B) Write a short note on any one : | - §
(1) Father's Help — A reflection of the inner psyche of a schunl-gnmg child.
(2) Agarwal, the salesman,
(3) The pillars of the Digital India movement.

2. (A) Answer any four questions in brief : 1
(1) How has the poet conveyed the physical decline of the old man in the poem
‘Father Returning Home' 7
(2) Why is the traveller induced to stop at the woods ?
(3) What does the poet mean by the word *care® 2
(4) What, according to the poet, is a poor life ?
(5) Why does the traveller decide to move on 7
(6) How does the poet describe his father's train Jnumey in the poem ?
ME-106 10
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(3)  Write o short note on any one :
(1) The theme of the poem *Father Retumning Home',

(2)  The central idea of the poem 'Stopping by the Woods on a Snowy Evening’.

(3) The theme of the poem *Leisure’,

(A) Fill in the blanks with appropriate forms of Do, Be and Have as main verbs from

those given in brackets : [Any four)

(N as you are told. [ Did, Do)

(2) We a car which we sold last year. [ had, have ]
(3) Manan a student, [ does, is ]

(4) What are you now ? [ done, doing ]

(5) Rahul a book written by Dhumketu. [ is, has ]
(6) Where you last Monday 7 [ were, are ]

(B) Fill in the blanks with appropriate forms of verbs from those given in brackets :

[ Any six ]

(1) Don't disturb me. [ an interesting novel. [ have read, am reading ]

(2) Rahul never to his office late. [ go, goes ]
(3) Kanan for the U.S.A. next year, [ has left, will leave ]
(4) We a new house in the year 2019. [ bought, are buying ]

12

(5) When I went out, my mother the food. [ was cooking, is cooking ]
(6) The teacher asked Aman if he his homework. [ has completed, had

completed ]

(7) Kunal cricket since morning. [ was playing, has been playing ]

(8) Nikunj : just out, [ has.. ...gone, did....go]

Write an essay in about 80 to 100 words on any ONE of the following topics :
(1)+ My Ambition in Life

(2) Importance of English in India.

(3) Trees-Our Best Friends.

SECTION - II (Compulsory)
Choose the appropriate options ; [Any five]
(1) What does MOOC stand for ?
(a) Massive Open Online Correspondence
(b) Massive Online Open Course
(c) Media Open Online Course
(d) None of the above

ME-106 11
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(3)

(4)

(5)

(6)

)

(8)

)

(10)

ME-106 -

Bohni means

(a) bad luck, (b) tohave lots of money.

(¢) the best sale of the day. (d) - the first sale of the day.

What did Samuel teach the class on the day Swami reached late to school 7
(8) Arithmetic and Mathematics (b) History and Mathematics

(c) Arithmetic and History (d) Geography and History
The old man is travelling by a train.

(a) late afternoon (b) late evening

(c¢) Ilate night (d) mid night

What does the horse do to ask if there has been a mistake ?

(a) Neighs (b) Shakes the hamess bells
(c) Starts jumping (d) Refuses to walk further
The poet wants ‘we’ to stand

(a) under the stars (b) over the roof

(e) in the moonlight (d) under the trees

Which of the following is not a social media programme 7

(a) Facebook (b) Uber .
(c) Twitter (d) LinkedIn

Mr. Ratnam’s mill was located in

(a) Bombay | (b) Delhi

(c) Bangalore (d) Madras

What does the old man dream of ?

(a) Son and wife (b) Ancestors and grandchildren
(c) His food and home (d) His relatives:

Frost is highly regarded for his

(a) realistic depiction of rural life.
(b) realistic depiction of city life.
(c) realistic dramatic dialogues.
(d) formal speech.

12
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Seat No., :
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March-2022
B.Com., Sem.- I
CE-101 (A) : Financial Accounting
Time : 2 Hours] [Max. Marks : 50

Instructions : (1) All questions in Section-I carry equal marks.
(2) Attempt any two questions in Section-I.
(3) Section-II is compulsory.

SECTION -1

-,__;An:mpm any two questions :

AL éim ‘s th s
*I"I'-‘ ¥ .q\,

Mar‘&ﬁhntﬁ'un ﬁts and losses in the ratio of 2 : 2 : |

rcspcctwely The firm was d:ssnlved on 3 l-ﬂ3 2021 and the following is the Balance-

sheet on the date of dissolution : . (20)
LIABILITIES g ASSETS ?

Capital Accounts : Land & Building 5,40,000

Amar = 2,70,000 Furniture & Fixtures 90,000
| Akbar 2,25,000 Plant & Machineries 90,000
‘ Anthony 135000 | 6,30,000 |Stock 1,66,500
1 General Reserve (%) 67,500 [Debtors 1,10,250
‘ Loan from Akbar? - 1,10,250 (Bills R‘gcﬂ le 90,000
| -[Loan from State Bank of India\| 1,82,250 |Cash %4 29,250

Creditors 2 2,00,000 |Profit & Loss A/c (Debit) 90,000

Bills Payable ¥ 16,000 )

12,06,000 12,06,000

Loan from State Bank of India is secured against Land & Building. The assets are
realized as under ; '

First Instalment : 2,92,500 # _5@“ Second Instalment : 1,62,000
Third Instalment : 1,71,000 ~U o Fourth Instalment : 2,06,100 =
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A sum ¥ 67,500 was kept aside for gissolution expenses. However, the actual
dissolution expense was ¥ 54,000 and waqgq paid off ¥
DY

Prepare the statement showing Piecemea] Dlstrihu'lmn of cash among partners as per
Surplus Capital Method.

- OR
Explain in detail "Maximum Loss Method™ sy, imaginary figures.

-2. The Ascent

Avenue Ltd issued 2,50,000 equity shares of ¥ 10 each at a 5¢cur|ty
premium of 20%. The Amount per share is cajleq up as under : (20)
On Application T4
On Allotment ¥ 6 (with security premium)
: .

On first & finalcall 22 !

. 1 The company. received applications for 5,00.000 shares, out of which applications of

money was adjusted by mmpany as allotment money,

Shri Amit who had been allotted 600 equity shares under Pro-rata category could not
pay first and final call money on his allotted shares. His shares were forfs eited and after
giving him legal notice, his shares were reissued to Shri Mohit at 27 per share as fully
paid. Write necessary Journal Entries in the books of the Ascent Avenue Ltd. = -

OR
Explain the following with reference to calculat: Profit priot to lmﬂmmﬂﬂ of

company with the help of example ) |

(1) Accounting treatment of Bad-dcbls. Bad-debt Reserve, Snlesmm 8 salant

Salesmen's Commission -

(2) Sales Ratio & Time Ratio

(3)  Accounting treatment of Interest on Purchase Price of business.

MF-106 | ; . g ;



The following is the Balance Sheet of Aarav and Ayan Co. as on 31-3.21,

" LIABILITIES =
el L4 ASSETS 7
Capital : ~ |Building ~ 5,94,000
Aarav 4.,95,000 Machineries 3,96,000
Ayan 3,63.000 | 8,58,000 |Investments [MV.T 1, 32,000] 99,000
Workmen Profit Sharing Fund 33,000 |Stock / 3,63,000
workmen Compensation Fund 49,500 |Debtors. / 2,80,500
Bank Loan 6,60,000 |Less : Bad Debts 16,500
Creditors 82,500 |Less : BDR 33,000 | 2,31,000
Bills Payable 33,000 |Prepaid Expenses L 8,250

Cash 24,750
17,16,000 17,16,000 |

On 01-04-2021 Shradhha Ltd jwas mcnrpnmad with an. am]'lnnzrd r:ap:tal of 16 500

ayap s

{ mm‘i‘f’“*“"‘m over tHe rumiég business of | t{ar. above firm.
Cau;lﬂon: for business purchnse : ;
(1) The building was taken over for T 6,60,000 and stock was taken over for
T 3,30,000.
(2) Debtors are subject to 10% Bad Debt Reserve.

(3) ' The purchase consideration is to be satisfied by issuing 6600 equity shares of ¥ 80
paid up at the rate of € 120 and ¥ 1,55,100 to be paid in cash.

(4) The company has issued remaining shares to the public at T 80 paid up at the rate
of 120.

Pass necessary journal entries for the above transactions in the books of Shradhha Ltd.

and also prepare initial Balance Sheet of the company. '

. o% 2 7\ <0 o
3 Explain the following with the help of example : ol
E (1) Vendor's Debtors Account.
(2) Vendor’s Creditors Account, :',
(3) Vendor’s Suspense Account : ! |
WF-106 9 P.T.0.
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4. The following are the balances extracted from the Trial Balance & other data of
CASAMIA Fabrics Ltd as on 31.03.2021. Prepare the Balance-sheet as p:r Part-I of

Schcduic-lll of the Companies Act, 2013. - (20)
PARTICULARS AMOUNT |
T

I Plant & Machinery 5,40,000

2. 8% Preference Share 1,65,000

3. Loose Tools 48,900

4. Computer Software & Mobile Application 24975

3. Advertisement Suspense A/c : 9,000

6. 12 % Investment - Ascent Avenue Ltd 73,500

7. Office Fumiture 1,44,180

8.  Equity Share Capital 4,50,000

9. 8.550

_ Bills Payable ‘

R | AT . ; .
e e S DR U 17 R e

+7* |11, Provision for Taxation S 7,965
12. Spare-parts & Stores 30,060
13. Cash & Bank 6,900
14. Debtors. : 57,000
15. Business Loan - Mortgaged 93,000
16. General Reserve , " 1,24,500
17. Creditors for Goods 42,000
18. Cash-credit - Overdraft ' 22,500
19. Accrued Interest on Investment 15,300
20. Staff welfare Fund . 25,500

OR

Prepare the format of Profit and Loss Statement with i lmngmary ﬂgures as per Part-Il of
Schedule-1II of the Companies Act, 2013,

MF-106 10
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SECTION -1

I the following questions, more than one option are given, Select the correct answer -
(10)

g (Attempt any five)
@ T following is not the part of *Reserve and Surplus® of Dalance-sheet
(a) Debenture Redemption Reserve
(b) Capital Redemption Reserve
(¢) Proposed Dividend
(d) General Reserve

(2) The Surplus Capital Method for Piecemeal distribution of cash is also known as

(a) Maximum Capital Method (b) Minimum Capital Method
(¢) Proportionate Capital Method (d) None of the Above

(3) What is the maximum rate of Interest received on calls in arrears as per Table A ?

(a) 18% (b) 12%
() 10% Ly ZU(d) S il it A R
B e e

(@) Capital Pruﬁ.t- [ (b) Revenue Profit
(¢) Deferred Revenue Income  (d) None of the above o«

(5) Goodwill is
(2) Purchase consideration
(b) Net Assets less Purchase Consideration
(¢c) Purchase Consideration less Net Asset taken over

(d) None of above

(6) When a purchaser of business pays the firm's dissolution expenses, then the same
is debited to , .
(a) Vendor's Alc. (_I_:_! Goodwill Alc
(c) Share capital Alc (d) None of the Above

(7) In Piecemeal distribution of cash, the credit balance of Profit and Loss account
is . -
() Deducted from Cash
(b) AddedtoCash - S
(¢) Deducted from Partner’s Capital Account
(d) Added to Partner’s Capital Account
MF-106 & P.T.O.




(8) Which of the following is covered by “Contingent Liability” in case of a
Company ? :
(@) Unpaid Salary to employees
(b) Unpaid Interest on Debenture
(¢) Unpaid Dividend on Equity Shares
(d) Accumulated dividend on Cumulative Preference share.

(9) The amount of “Authorized Capital” of company is included in total amount of
Share Capital.
(a) True (b) False
(c) Partly True and Partly False (d) None of the above

(10) A company shares at Discount @ :

(a) Can issue, 10%

@] Can not issue, .......

(c) Can issue with the permission of Central Govemment, 5%
(d) Can issue, 5%

- W

AEA0% tion
Account is
(a) 25,000 (b) ¥ 50,000
(c) ¥ 75,000 (d) None of the above

(12) Director’s fees in the calculation of profit prior to incorporation is to be allocated

(a) in Time ratio (b) in Sales ratio
(¢) in Pre-incorporation *{9} ‘in Post-incorporation.
MF-106 12 : !



